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Part A
Answer any ten questions.

Each question carries 2 marks.

If A={a,bc,d},B={c,de,flandC ={e, f,g,h}find [ AUB)UCand AU(BNC)
Define ordered pairs.
‘ x o< y2 and x=15 when y=4. Find therelation between x and y and also find x when y=8

x2 varies inversly as y2 and x=4 when y=25 _Find the relationship between x and y and also find x

when y=36 ?
How many words can bemade out of the letters of the word PERMUTATION taken all together ?
In how many ways 6 people be seated arounda table .

Define nC,

Find two matrices A and B such that the following condition is satisfied A+B =3l but A= LB # I

2 3 b 5 -9 6
GivenA=|5 4 2|,B=(2 3 —5]| EvaluateA-B
2 5 9 4 9 7
N
Find the rank of & 8
, 8 1

Define non-singular matrix.

State the formula for determining the inverse of a matrix
(10%x2=20)
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PartB
Answer any six questions.

Each question carries 5 marks.

Write down all the power set of U = {a, b, ¢, d, e}

Let A = {m,n,0,p},B ={o,p,q,7},C = {p,r, 5,1 }.find
N(ANB)N(ANC)
2)AU(BNC)

Compute the rational number corresponding to 1.375375........7

7a+3c—4de

a _C _ € o
If T T4 F then prove that each ratio is equal to Toradaf °

d [’

e o

Find the number of ways in which 6 boys and 4 girls may be arranged in a row if no two of the gorls are

to be together .

Prove thatlog ( & )-2log (2 )+3log(2)+log () =0.
LetB=|° “%|c=|1 2
4 -3 6 -3
W
find A = such that 2A =3B - 2C
z w
. 1 1], :
Verify that A=(1/2)[1 1 JIS orthogonal?
1 0 -1
Verify the relation A(adj A)=|A|l for the matrix A=| 3 4 5
0 -6 -7
Part C

Answer any two questions.

Each question carries 15 marks.

Let A = {a,b},B = {p,q}and C = {g,r}. Find
N4 x (BUC)

2)(Ax B)U(AxC)

A x (BNC)

§(Ax B)N(AxC)

5)B x (AU C)
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(6%5=30)
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23. (a) The present age of a father is twice that of his son .Eight years hence their ages would be 7:4.Find
the son's present age?

(b). Find £ ifa:b=4:5andb:c=3:77

- B
2 ywa=|t 2l e= [T 0 e=|t T showthat A(B+C)=AB +BC
3 4 2 -3 0 1

(3 1 2
2 0 1
|2 5 -9

(2)If A=

] . verify ( AB )T = BTAT

25. Solve by matrix method the system of equations
O x+y=0, y+z=1, z+x=3
{2x15=30)
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